CHaAMPION

Power & force

MﬂﬂlOCTpMpOBaHHbIH KaTanor 3anacHbIX YacTew

Mogenb: G760HKE

Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTUKyn HanmeHoBaHue K-80
1 380140103-0004 Bont M6x25 4 7 120080786-0001 JleBas ronoBKa UMAMHAPA 1
2 110690101-0001 KpbiLwKa oTBEPCTMA ANA 3a/IMBKU Macnia 1 8 120150250-0001 MpoknagKa ronoBKN LMANHAPa 1
3 120230165-0001 KpbiLWwKa KnanaHos 1 9 380600122-0001 Brynka 12x12 2
4 120250058-0001 MpoKnagKa KpbIWKKY KNanaHoB 1 10 120550017-0001 KpoHLwTeiH 1
5 380140454-0002 Bont M10x65 6 11 RC12YC Cseuya 3axuraHma 1
6 160190114-0001 [OednekTop 1 12 380180139-0001 LWnunbka 8x42 2




CHaAMPION

Power & force

MﬂﬂlOCTpMpOBaHHbII‘a KaTanor 3anacHbIX YacTew

Mogenb: G760HKE

Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHue K-80
1 120550017-0001 KpoHwTeH 1 7 120080787-0001 MpaBas ronosKa UMANHAPa 1
2 110690101-0001 KpbiLWwKa oTBEPCTMA ANA 3a1MBKM Macna 1 8 380600122-0001 Brynka 12x12 2

3 120230165-0001 KpbiLWwKa KnanaHos 1 9 120150250-0001 MpoknagKa ronoBKN LUANHAPA 1
4 380140103-0004 Bont M6x25 4 10 380180139-0001 LWnunbka 8x42 2

5 120250058-0001 MpoKknagKa KpbIWKN KNanaHoB 1 11 160190115-0001 DednekTtop 1

6 RC12YC Cseya 3axKuraHua 1 12 300710132-0001 KpoHLwTeiH




CHaAMPION

Power & force

MﬂﬂlOCTpMpOBaHHbIH KaTanor 3anacHbIX YacTew

Mogenb: G760HKE

Ne ApTUKyn HanmeHoBaHue K-Bo Ne ApTUKyn HanmeHoBaHue K-80
1 110810365-0001 Kaptep D=80 mm 764 cm® 1 14 380140191-0004 Bont M8x95 2
2 171630013-0001 Ban perynsTtopa o6opotos 1 15 160190113-0001 [ednekTtop 1
3 380450522-0002 LWaiba 2 16 110260001-0001 Bont M14x15 2
4 380650377-0001 CanbHuk 8x14x5 1 17 380650337-0001 CanbHUK KoneHsana 35x52x7 1
5 381350004-0001 WnanHt 1 18 160190111-0001 [Lednektop 1
6 110840035-0001 KpbiwKa KnanaHa canyHa 1 19 281890012-0001 Pene 3apeprKKku gatunka macna 1
7 380741182-0001 LnaHr canyHa 1 20 380930114-0001 KpoHLwwTelH ans wnaHros 1
8 380950212-0001 XOMyT KpenaeHusa WnaHra 2 21 160190112-0001 DednekTop 1
9 110850025-0001 MpoKnagKa KpbIWKK 1 22 150350050-0001 MacnaHblt dGunbTp 1
10 140250019-0001 KnanaH canyHa 1 23 150840004-0001 LLTyuep macnaHoro punbrpa 1
11 150310020-0001 ®dunbTp canyHa 1 24 380840812-0001 YnnotHuTenbHoe Konbuo 11,7x2,5 1
12 270850025-0001 KpoHLWwTelH KpenneHus ctapTepa 1 25 380780084-0001 MydTa gna macnsaHoro WwiaHra 1
13 270360140-0001 CrapTep 1




CHaAMPION

Power & force

MI'IJTI-OCTpMpOBaHHbIH KaTanor 3anacHbIX YacTew

Mogenb: G760HKE

Ne ApTUKyn HanmeHoBaHue K-Bo Ne ApTUKyn HanmeHoBaHue K-80
1 110820200-0001 Kpblwka KapTtepa 1 10 150290019-0001 CeTyaTblii MacnaHbIA GUnbTP 1

2 380600123-0001 Hanpasnstowmii wimnot 2 11 150340012-0001 Kpblwka 1
3 171750043-0001 LieHTpobexkHbIl perynatop ob6opoTos 1 12 381150370-0001 MpyxuHa 1
4 110830072-0001 Mpoknagka KapTepa 1 13 380640016-0001 Wapuk ¢ 9,5 mm 1

5 110690116-0001 LLlyn ypoBHA Mmacna KOMNAEKT 1 14 380780084-0001 MydTa oA MacnaHoro WwaaHra 1

6 150010109-0001 MacnoHacoc KomnaeKT 1 15 283690002-0001 JaTtunk pasneHma macna 1

7 150040053-0001 Kpbiwka 1 16 380650574-0001 CanbHuK 40x52x7 1

8 380600121-0001 Hanpasnstowmii wtmnot 8x10 2 17 380140339-0001 bont M8x50 11
9 380840976-0001 YnnotHuTenbHoe Konbuo 41,6x3,5 1




CHaAMPION

Power & force

MﬂﬂlOCTpMpOBaHHbII‘a KaTanor 3anacHbIX YacTew

Mogenb: G760HKE

N\

ApTUKYN HanmeHoBaHue K-Bo Ne ApTUKyn HanmeHoBaHue K-80
1 380620035-0001 LLinoHKa 7x7x40 1 5 130060054-0001 MNanew nopwHsa 2
2 130290691-0001 KoneHnsan 1 6 380560078-0001 CTonopHoe KonbLo 4
3 130150073-0001 WaTyH 2 7 130070157-0001 Komnnekr nopuHesbix Konew, 80x 2
4 TW00040039 MopweHb 80X KOMNEKT 2 8




CHaAMPION

Power & force

MﬂﬂlOCTpMpOBaHHbIH KaTanor 3anacHbIX YacTew

Mogenb: G760HKE

10

N2 ApTUKYN HanmeHoBaHue K-8o Ne ApTUKYN HanmeHoBaHue K-80
1 140020178-0001 Pacnpeagan 1 7 140340025-0001 MpyuHa knanaHa 4
2 140690017-0001 Tapenka TonKaTensa KnanaHa 4 8 140380021-0001 Tapenka NpyXuHbl KNanaHa 4
3 140670037-0001 Tonkatenb (wWTaHra) KNanaHa 4 9 140390015-0001 Cyxapb KnanaHa 8
4 500550037-0001 KomnnekT knanaHos 2 10 140450062-0001 Kopombicno KnanaHa Komnaekr 4

5 DDFO16 Tapenka nog Npy»KUHY KnanaHa 4 11 140710014-0001 Hanpasnstowan TonKkatenem kKnanaHa 2

6 019990003400 MacnocbemHbIv Koanavok 4 12




CHaAMPION

Power & force

MﬂﬂlOCTpMpOBaHHbII‘a KaTanor 3anacHbIX YacTew

Mogenb: G760HKE

-~

Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTUKyn HanmeHoBaHue K-80
1 160210141-0001 KpbiwKa asuratens, KOMNAEKT 1 8 270020357-0001 MaxoBuK 1
2 160710007-0001 Haknagka KpbiLWKK 1 9 380960223-0001 XoMyT KpenneHua LWNaHroB 4
3 270880261-0001 PerynaTtop HanpsaxeHuna 260BT 1 10 270190060-0001 bnok Katywek 12B 260BT 1
4 160180020-0001 Kpbinb4yaTka MaxoBuKa 1 11 270920432-0001 JleBoe marHeTo 1
5 160010110-0001 MacnsaHbiii paguatop 1 12 270920433-0001 MpaBoe marHeTo 1
6 380140457-0001 Bont M12x35 1 13 271810062-0001 3amoK 3axuraHua 1
7 380451020-0001 Laiiba 1 14 271340081-0001 Kntoy 3amKa 3axuraHuna 1




CHaAMPION

Power & force

MI'IJTI-OCTpMpOBaHHbIH KaTanor 3anacHbIX YacTew

Mogenb: G760HKE

Ne ApTukyn HanmeHoBaHue K-Bo Ne ApTUKyn HanmeHoBaHue K-80
1 380140375-0001 Bont M6x85 4 13 170010046-0001 TonnusHbIl GUNbTP 1
2 180280130-0001 Onopa Kopnyca Bo3aywHoro punbTpa 1 14 380960120-0004 XomyT 4
3 170430192-0001 Mpoknagka nog onopy 1 15 380750381-0001 LUnaHr TonaneHbIN 6,35x12,7x185 1
4 170021972-0001 Kap6topaTtop 1 16 380741320-0001 LLinaHr canyHa Hacoca 1
5 170430191-0001 Mpoknagka nog, Kapbtopatop 1 17 174680002-0001 KpbiLWwKa TOonAMBHOro Hacoca 1
6 180420661-0001 MaTpyboK BNYCKHOTrO KoA/eKTopa 1 18 170460019-0001 TonAMBHbIM Hacoc 1
7 170430190-0001 Mpoknagka no natpybok 2 19 380750381-0001 LLinaHr TonauneHbIN 6,35x12,7x185 1
8 170440101-0001 Tennounsonatop 1 20 380770292-0001 3awmTa WwnaHra 1
9 170430210-0001 MpoknagKa nog KoNneKkTop 2 21 180020901-0001 Kopnyc ¢unbtp KOMmnnekr 1
10 180420749-0001 BnycKHoW KonnekTop 1 22 180070265-0001 Kpblwka Bo3aywHoro ¢puabTpa 1
11 380950188-0001 XomyT wnaHra 1 23 180100113-0001 BosgywHbIn dpunbTp 1
12 380750942-0001 LLnaHr TonamBHbIM 4x5%350 1 24 180330062-0001 Onopa ¢unbTpa 1




CHaAMPION

Power & force

MI'IJTI-OCTpMpOBaHHbIH KaTanor 3anacHbIX YacTew

Mogenb: G760HKE

No ApTUKYN HanmeHoBaHue K-8o Ne ApTUKYN HanmeHoBaHue K-80
1 171730073-0001 KpoHLuTelH KpenneHuns pblyara 1 8 380250003-0002 Bont M6x21 1
perynmposku 060poTos

2 171590042-0001 Tara pbiyara 1 9 380370066-0002 Faitka M6 1

3 171610039-0001 MpyKuHa TArn 1 10 171620051-0002 Pbluar Bana perynstopa o6opotos 1
4 171650045-0001 TAra BO34yLWHOM 3aC/I0HKM 1 11 175030002-0001 3axum Tpoca 1

5 172920012-0001 Pyuka tarm 1 12 171600127-0001 Mpy»uHa pblyara 1

6 171680183-0001 Pbluar peryanposku obopotos 1 13 171210615-0001 Tpoc rasa 1

7 173710005-0001 Pyuka pblyara 1




CHaAMPION
Power & force

Vll'lﬂlOCTpMpOBaHHbll‘a KaTafior 3anacHbIX YacTen

Mogenb: G760HKE

ApTukyn HanmeHoBaHue K-Bo ApTUKYN HaumeHoBaHue K-eo
1 180572403-0001 Fnywwutens 1 4 180990138-0001 KpoHLWTEWH KpenneHus rywurens 1
2 380340005-0009 laiika M8 4 5 380140040-0005 Bont M8x16 4
3 180650130-0001 Mpoknagka rnywntena 2




